
/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
0 2 4 6 8 10 12 14 16 18

=2.5mVCUT, UO=45ϕ=1000V, DETU

RUN=7, CH=1RUN=7, CH=1

/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
0 2 4 6 8 10 12 14

=0.0mVCUT, UO=45ϕ=750V, DETU

RUN=7, CH=1RUN=7, CH=1

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
-18 -16 -14 -12 -10 -8 -6 -4 -2 0

=-2.0mVCUT, UO=45ϕ=-500V, DETU

RUN=8, CH=1RUN=8, CH=1

/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

/MPTHRU
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
0 2 4 6 8 10 12 14 16 18 20 22

=0.0mVCUT, UO=90ϕ=1000V, DETU

RUN=4, CH=1RUN=4, CH=1

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
-20 -15 -10 -5 0

=-3.5mVCUT, UO=45ϕ=-1000V, DETU

RUN=9, CH=1RUN=9, CH=1

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
-20 -15 -10 -5 0

=-2.5mVCUT, UO=45ϕ=-750V, DETU

RUN=9, CH=1RUN=9, CH=1

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
-18 -16 -14 -12 -10 -8 -6 -4 -2 0

=-2.0mVCUT, UO=45ϕ=-500V, DETU

RUN=9, CH=1RUN=9, CH=1

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

/MPTHRU
-5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0

ef
fi

ci
en

cy

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

1

  [mV]THRU
-20 -15 -10 -5 0

=-3.0mVCUT, UO=45ϕ=-1000V, DETU

RUN=10, CH=1RUN=10, CH=1


